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1. Define the following terms:

solution

solute

solvent

saturated
unsaturated
solvation

polar

non-polar

ionic compound
molecular compound
Vander Waals Forces
dipole-dipole force

H bond

london force
AMPHIPROTIC
Bronsted-Lowry acid
Bronsted-Lowry base
Arrhenius acid
Arrhenius base
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2. Indicate whether the following molecules are polar or non-polar
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3. List the most important INTRA- MOLECULAR FORCE that exists between:

. 2 atoms of He in He (g) Lovvdov *CW&&

. 2 molecules of CCly (symmetric) in CCly
. The atom Na and the atom Cl! in NacCl (s)
e. 2 molecules of CH3F in CH3F (1)

a
b. 2 molecules of CH3CH3NH, in CH3CH3NH, 44~ \o) de
C
d

4. Explain why WATER is the universal SOLVENT:

Wokr is the universal Solvent because (= is
\av wadcoude but L cotn olso dissolye noa-polr

| me»\f:m\es Waler s alundant, cheap, not varndl

gind, Novi- Toxec .
5. Compare and c&}aﬁﬁw characteristic Br%eqles of Acids & Bases
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6. Write the dlssomatlon 1 equatlons the result when the following

compounds are dissolved in water:
a. NaBr = No¥ )t By (o)
b. HNO3 =¥ H\-\—qub 4+ N0z (a9)
c. ABr; —> Fr3T(eqy + 36r (acp

/j} d. (NHy ),804 = 72 MH._,‘*L&% ¥ &M *(ﬁﬂ')

1 e.Ba(OH), —» Bar'¢ (ag) + 2O “(aq)

£CrS0,)s = B2 (aq) + 350y Cae)
0. HsPOy =3 3 UL (aq) + Poy®” (=9)



7. Write the dissociation equation for each of the following solutions, then
calculate the concentration of each ION in the solution:

a.0.18 M Hg(NO3), === HS’*LQQP x 1:\1@3“(%‘5
018 M HS_M— Y O.3cM NQ’;

b. 0.35 M (NH,),S0, =9 Z. =/ Hbf (QGF) + SDMLEGCD

f 00 M NHY Y 0.35M SOy

c.0.070 M Fe(CIOg); el Fey?zogp 4 SC*Q;(QGP

/ o.CTomM Fe® 5 0.21 M CIog
)

8. Calculate the final concentration of each ion when the following solutions are

ixed A pet
2'1)(235 mL of 0.20 M MgClomixed with 375 mL of 0.40 M KCI V‘ﬂa 2 -y '\’&Cl
0. 1OMXQ.125 L Torep it | Fal—» 5 Cl
O:5oBL s QMM OBI5L [ |
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. OMyLdTSL &~ HOMKO- 3" 0.1o M OLT
o X 2 @Mgml__ - =0pMm Y @.14!9&;);2375'— = ©. %0 Mcl
b. 4.0 L of 0.25 M CuSO, mixed with 6.0 L if 0.75 7 N&2SO4 O .40 M €A

L GG T ooy > ank o
3 O.15MX 4.0 ':@-LOM i i “ ax;"%a,( b.oL fgn M NG‘—\"L
i - .
i

0.0 i 0.0

e ! * TV 1M 6 40—' n ] ' WV \OM
. 0.1SMX¥A-0L a2 || OTIMKe.O-  pg mao;
/{Q\ O IIEAD - ougrasn” || — 0T Rl L

1©.0




CrBry — O™ +38 5 (b = o' 428,

c. 300 mL of 0.3 M CrBr3 mixed with 700 mL of 0.1 M CaBr,
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9. What is the concentration of NaOH if 27.0 mL is neutralized by adding 35.0

mLOFOSOOMHC? kol + HCL > NoC\ + H,0

= W”Q - x 003515 o. ons?msﬁ Na OH
/a 6-0270 1

10. If 35 mL is titrated with 15.8 mL ‘. what is

the concentration of the ongmal' kKo w?
Ha50, +2k0H —> K 504 + 240

/ mgi_@ W80 0.035L = O. w@@*moﬂ Wy ¥ Lol oW
\ ek Hys6,
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11. If 125 .mL. of 0.551 M H3POy is titrated to neutralize 50.0 mL of Ca(OH), ,
what is the concentration of Ca(OH),?
x X X N (4
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